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matlab f#5:
WA LU 4
W N A TTHERT LU 0%

A = input C HANGEME A:\n’ ) ;
b = input C HAE b:\n’ ) ;

n = length(A);
E = eye(n); %4 L4

for t=1:n-1 %#EAT LU 43ff
AR IR SR 25 - AH e
temp = eye(n);
temp (t+l:n, t) = — A(t+l:n, t)./A(t, t);
E = temp * E;
W) 54T AL i
A(t+l:n,:) = A(t+l:n,:) + A(t,:) .* temp(t+l:n,t);

end

A
inv (E)

= <GS
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WETTRE, BLATDAEHORE SR x, AT HIEAGER T x
% y = Eb;

h Ux = v

%y =E*b

h x = inv(U) * y

y = zeros(n, 1) ;

for t = 1:n



y(t) = b(t) — sum( L(t, 1:t-1) * y(L:t-1) ):

end

x = zeros(n, 1)

for t = n:-1:1

x(t) = (y() - sum( U(t, t:n) * x(t:n)) ) / U(t, t) ;

end

X

LIS SR

A 1:
A=
[1,2,1;
3,8,1;
04,1;];

[2;
12;
2;];

A 3:

[1,59,5;

8,5,6,4;
4458:

6,3,6,6];

frd 1
U=
1 2 1
0 2 -2
0 0 5
L =
1 0 0
3 1 0
0 2 1
X =
2.0000
1.0000
-2.0000
Wi 3:
U=
1.0000
0
0
0
L =
1.0000
8.0000
4.0000
6.0000
X =
1.4982
0.1489
0.4468

-0.8528

HIN 2: W2
A= U=
[1,2,3: 1
2,3/4; 0
4,5.8]: 0
B L=
[2; 1
12; 2
2]; 4
X =
3
22
-15
5.0000 9.0000 5.0000
-35.0000 -66.0000 -36.0000
0 -0.8286 44571
0 0 19.4483
0 0 0
1.0000 0 0
0.4571 1.0000 0
0.7714 -3.5172 1.0000



